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Who Wants to
be a Millionaire
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B: Cardiff

A: Belfast

C: Edinburgh
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Computer, please take away two wrong answers.

What is the capital of Northern Ireland?
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What is the official name of
Britain?
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A: The United Kingdom B: Great Britain

C: The United Kingdom
of Great Britain and
orthern Ireland

D: The United State
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C: The United Kingdom o
Great Britain and Northern
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What birds live in the Tower 6
of London? 5
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A: Sparrows
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Computer, please take away two wrong answers. 1 @ 200,000
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What birds live in the Tower P 10,000
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D: Ravens

C: Woodpeckers
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How many children does
Queen Elizabeth Il have?
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Computer, please take away two wrong answers. 1 e 200,000
e 100,000

How many children does
Queen Elizabeth Il have?
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What is the official language ¢
in Great Britain? 5
4
3
2
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B: Russian
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Computer, please take away two wrong answers.

What is the official language
in Great Britain?
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Agatha Christie wrote lots of
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Computer, please take away two wrong answers.
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Agatha Christie wrote lots of




What does England consist
of?
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states

regions
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Computer, please take away two wrong answers.

What does England consist

of?

regions



RN
6}

14
13
12
11
10
9
8
i/
Manchester United is a 6
popular __ team. 5
4
3
2
1

A: football baseball

basketball

3,000,000
1,500,000
800,000
400,000
200,000
100,000
50,000
25,000
15,000
10,000
5,000
3,000
2,000
1,000
500

.y




3,000,000
1,500,000
800,000
400,000
200,000

Computer, please take away two wrong answers.

Manchester United is a

popular __ team.

A: football

baseball




. 15 @ 3,
14 @ 1,
> / 13 @
. ., S, . 12 .
11 @
' ( 10 @
9 o
) 8 e
What holiday do English 7 Y&
people 6 e
celebrate 5 o
on the 14" of February? 4
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New Year’s Day Christmas Day

C: St. Valentine’s Day Halloween
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Computer, please take away two wrong answers.

What holiday do English
people

celebrate

on the 14" of February?

C: St. Valentine’s Day
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What is the nickname of the
British flag?

Union Jack

Stars and Stripes

N

|

D: Red, White & Blue
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B: Flag of St. Patrick’s Cross .
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Computer, please take away two wrong answers.

What is the nickname of the
British flag?

Union Jack

Stars and Stripes
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What separates Great 6 e 10,000
Britain from Ireland? 5 @ 5,000
14 e 3,000

3 e 2,000
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1 @ 500

B: the North Sea ‘

the Black Sea

the Irish Sea the Baltic Sea
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Computer, please take away two wrong answers.

100,000

What separates Great
Britain from Ireland?
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B: the North Sea .

C: thelrish Sea
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Computer, please take away two wrong answers.

The symbol of England is

C: a diffodil
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What name do the Scots
give to New Year’s Eve?

A: Boxing Day

C: Holy Sunday
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B: Hogmanay .




What name do the Scots
give to New Year’s Eve?

A: Boxing Day

Computer, please take away two wrong answers.

B:

Hogmanay
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Which British monarch
reigned for the longest
period?

Queen Victoria

Elizabeth |

D: George V
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Computer, please take away two wrong answers.

Which British monarch
reigned for the longest

period?

A: Queen Victoria

Elizabeth |
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When do the Irish celebrate 6 e 10,000
St. Patrick’s Day? O @ 5,000
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B: 31 October .

D: 5 November




Computer, please take away two wrong answers.

When do the Irish celebrate
St. Patrick’s Day?
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Game over!
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